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. Write your Roll Number in the space provided on the top of this page. §
2. This paper consists of one hundred (100) multiple choice type of questions. All questions are compulsory. %2
3. At the commencement of examination, the question booklet will be given to you. In the first 5 minutes, you are requested to open the o
booklet and compulsorily examine it as below : %

(i} To have access to the Question Booklel, tear off the paper seal on the edge of this cover page. Do not accept a booklet without &5
sticker seal and do not accept an open booklet. o~

{ii) Tally the number of pages and number of questions in the bookiet with the information printed on the cover page. Faulty booklets b3
due to pages/questions missing or duplicate or not in serial order or any other discrepancy should be got replaced immediately @

by a correct booklet from the invigilator within the period of 5 minutes. Afterwards, neither the Question Booklet will be replaced 25
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. (i) After this verification is over, the Test Booklet Number should be entered on the OMR Answer Sheet and the OMR Answer Sheet &3
& Number should be entered on this Test Booklet. %
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6. Rough Waork is to be done in the end of this bookiet. &5

7. i you write your Name, Roll Number, Phone Number or put any mark on any part of the OMR Answer Sheet, except for the space @
aliotted for the relevant entries, which may disclose your identity, or use abusive language or employ any other unfair means, such as
change of response by scratching or using white fluid, you will render yourself liable to disgualification. \\

8. You have to return the original OMR Answer Sheet to the invigilator at the end of the examination compulsorily and must niot carry it
with you outside the Examination Hall. You are however, allowed to carry original question booklet and duplicate copy of OMR Answer
Sheet on cenclusion of examination.
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1.

ECONOMICS

Paper - li

When consumer attains marginal utility
equal to zero, it leads to

(A) Giffen goods
(B) Total utility zero
(C) Total utility maximum

(D) Pareto optimality

. If the 1S curve cuts the LM curve in the

Keynesian trap, increase in money supply
(A) Will not affect the level of income at all

(B) Will be effective in increasing the
level of income

(C) Will reduce the level of income

(D) Wili reduce the rate of interest

. Probabilities that prices of good A and

good B increase within 6 months are
60% and 70% respectively. Then the
percentage of cases in which they both
are likely to change in opposite directions
will be

(A) 35%
(B) 30%
(C) 40%

(D) 46%

1. ol Aesell AHict dfRoal eRIoR

gledt Sl RUR Al

(A) altget 9159

(B) s&t RO Yo
(C) s dfRoIRL HeTiH

(D) A2a U Ratet sredHls20
58 8

. RIS as, LM asal dellus Wl

B, Al ollQuotl YasMl Al iR :
(A) Bldsell wRA [Aage WR 5

ol

(B) wlclse] ¥R AIRCUHL VUSRS
olot 3l

(C) ld5e] R Uals
(D) cauesell £3 ©2ls

. clxd] A el dzq B ol Budl © 1aun

afl Qell delcell vajsA 60% dal
70% B. A vl A cxllel Bud
9 HReuHl Asollondl Q34 (Reunl
a?l Qell eucsit

(A) 35%
(B) 30%
(C) 40%

(D) 46% B
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4.

. According to

The production function Q = A. K~ L8 and
o+ B =1, then the function is

(A) Homogeneous of degree one
(B) Non homogeneous

(C) Homogeneous of degree less
than one

(D) Homogeneous of degree more

than one

a nation will tend to

export goods having relatively abundant
and cheap factors of production.

(A) Heckscher-Ohlin theory
(B) Stopler-Samuelson theory
(C) Product cycle theory

(D) Intra-industry trade theory

- Maximum welfare principle of budget

determination is associated with
(A) Adam Smith

(B) Richard Musgrave

(C) Hugh Dalton

(D) Edwin Seligman

4. Gauleot QRA Q=A.K* LB B wd
a+B=198 w @Qda

(A) Y saie] AuRHe QA d
(B) wuHuURW B

(C) s sl US| s810] AHURMEL

QA &

(D) 35 s2cti Ay seite] uHUBMEL
QR &

5. oflAstiuiell ol YMIg), A

GAltEotHl YL [Ayet wal Al
URWHA HRlddl Hidell Rsi
§Ccllo] CAGBL UL,

(A) 3542 ~ ecllot

(B) RIUAR - Aijetuet Rgial

(C) Geuteot us Rttlict

(D) AicdRs - WAB s 2wz Rgic,

6. 6i®2 AuiRQl 2ANA Hetin scuR
Rgid

(A) suen ulla
(B) fws Hadla

(C) &% SlcBat

(D) Ascllot AclloNa
A doilld B,

T rr——




7.

10.

»

The committee on capital account
convertibility set up by RBI was headed by

(A) S. S. Tarapore
(B) C. Rangrajan
(C) Chelliah

(D) Dutta

. According to which economist

“Development is a process of creative
destruction” ?

(A) W. W. Leontief
(B) Joan Robinson
(C) J. Schumpeter
(D) Karl Marx

. The rate of return at which the costs

are just recovered after adjusting for
discounted cash flow is

(A) Cost-benefit ratio
(B) Internal rate of return
(C) Balance of payment

(D) Exchange market and arbitrage

Finance Commission is appointed by
the President under Article of
Constitution.

(A) 256
(B) 280
(C) 293
(D) 356

7.

10.

ot cell Fuictlect 12 Bodlal Aos

g2l Qe 1EUQA ANt S1QL &ell ?
(A) A, AU ARMR

(B) L. 2dR1%et
(C) Ada
(D) exll

gay wdlaallelt 1A, "Rsia A Al

wbellants - Questell B 8."
(A) sueej suee] cllledls

(B) it Ao{lodet

(©) %, yrlle?

(D) slcl wdu

L sUL SYCL ol Yot idl UAc

wHllogot sl ol B WAl B
el €3 Yetulut sl 8l A €2
(A) W - clet dBllcR

(B) wicRs HAAR €2
(C) el Udy

(D) QAHa wm? dal §sl [QlHa
cLcL

202 UR SRL ot BNl ueUedl
RHgs oluigell seH ..

(A) 256
(B} 280
(C) 293
(D) 356
GlL A B
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11.

12.

13.

14.

In weak ordering consumer shows

(A) No preference for combination of two
goods

(B) Negative preference for combmatlon
of two goods

(C) Preference for cheap goods

(D) Physical weakness in selecting
goods

Portfolio theory of the demand for money
assumes that the individual

(A) disregards risk
(B} is risk lover

(C) is risk neutral

(D) is risk averse

test can be used to compare the
mean family income of the households
selected in two samples drawn from each
of the two cities.

(A) t-test
(B) F-test
(C) z-test
(D) %2-test

fU={1,23..,10,P={1,2, 5),
Q={6,7}, theanQ’ls

(A) P
B)
C)

11.

12.

13.

14.

A0 SHHL JLeS gald B.

(A) A Rl a2eit Aelaote] YLkiLo2L
ol 8l

(B) A cxqall d2Aell aASI2AMS U avel
of Ultllo .

(C) ectst ustRell dide] ultiey

(D) ueal Yset clrdlui s stoion
ugj

lQUell Hiatell WENEALN @o1al)
Rtuic A wren w2 wwdld

8 ¥ s

(A) SuHoll wagell s¥

(B) %luH AlsaR &

(C) AuH Yy dew B

(D) slunal 2l B

A wdAMiel urie sRcUMi WAL Ns -
s [Aednl, gdololl w21a Slebns
ulasell detoll scu B _
uflaell Gualol 54l asiat,

(A) t-udlawt

(B) F- udlaw
(C) Z- udlaw
(D) 2*- Wdlaw

A U={1,23, .., 10), P={1,2, 5},
Q=1{6,7} Qlat AP~ Q w2062
(A) P

(B) Q

(C) &

(D) None of the above (D) Guretniell 515 o1&l




15.

16.

17.

model argue that a portion
of international trade is based on
the introduction of new products and
processes.

(A) Specific factors
(B) Technological gap
(C) Product cycle

(D) Real business

The Indian Government Accounting

Standards are formulated and

recommended by the

(A) Institute of Chartered Accountants of
India

(B) Institute of Cost Accountants of
India

(C) Government Accounts Standards
Advisory Board

(D) Government Financial Accounting
Board

Which one of the following is not a
function of Commercial Bank ?

(A) Providing project finance
(B) Selling mutual funds
(C) Deciding bank rate policy

(D) Settlement of payments on behalf of
the customers

15.

16.

17.

Wea ecllel 52 B 3. vidR Al
Quizoll Bl olcll GAulgoll wal
yBaylelt dHlet URUA UR
wedld 8.

(A) Wl Altat
(B) dsellsc vid?
(C) GewlEot US

(D) clizclds cauwR

atzlal A2siRetl Raell Wre,
(A) BeRdleye As s UslB2U
V§ Seslaul

(B) Badleye A5 Ske AsIBo2eH Bl
Boslall

(C) dlcieiiled AslBoeU RledSHU
Asaues»I s

(D) atctelioz fotlorllact AsIBeBlo LS
all 2 B R Axell seunHgl
scllHL wd B,

o Aotiiell 52 cutdls dlose] 1

ol ?

(A) USCU (UlBs2) HiZell oL YR
utsell

(B) YR 58\af AU 5
(C) Aos 22 o0 atssl s2cll

(D) aweslett YARR fly ysagllsl
yctae sl

I
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18.

19.

20.

21,

Ginni Coefficient is a comprehensive
measure of

(A) Variation
(B) Poverty
(C) Inequality

(D) Development

Pensions received by retired government
employees is

(A) Income
(B) Perks
(C) Transfer payment

(D) Government expenditure

The definition of small scale industry in

India is based on

(A) Sales of a unit

(B) Investment in machines and
equipments

(C) Market coverage

(D) Export capacity

‘U’ shape cost curves are result of
(A) Technological development
(B) Laws of returns to scale

(C)} Change in government policy

(D) Global competition in production

18.

19.

20.

21.

Al oaiis A o cAlUs HIY B,
(A) QRu

(B) a3lell

(C) UUMLatcll

(D) Qs

Rgrt #2stdl sl Had Aedtot,
(A) Aas

(B) (A2 cual

(C) FUARA ysaall

(D) A8 W &

HRAM| olloll 5E0lL Galooll carvayy
(A) WsHe] AL

(B) Hellot Aol 2R 1 Asiy
(C) ™R of ulcwl

(D) @su auat
R B &

‘U AU w3 asef si2uL . |
(A) dilds @stu

(B) M [y
(C) U8l olllAui yruR

(D) Geweotsi d@s el oy HA D

e




23.

24,

22.

What constitutes the “High Power
Money” ?

(A) Currency held by the public + other
deposits of RBI

(B) Currency held by the public + cash
reserves of banks + other deposits
of RBI

(C) Currency held by the public +
Demand and time deposits + cash
reserves with RBI

(D) Currency held by the public

Skewness in a distribution is measured
by which of the following methods ?

(A) Scatter diagram

(B) Spearman

(C) Bowley

(D) Karl Pearson

Given 3 matrices — A, B and C with
dimensions 3x 4,4x2and 2 x 3
respectively

(A) One can calculate both AB and AC
(B) Both AB and BC can be calculated
(C) Both CB and CA can be calculated

(D) Both BA and AB can be calculated

22,

23.

24,

"Gl Aritellal sl Wi el AHLA

AA B ?

(A) Fotct Wall sllRUaAl %28l +RBI «ll
o2t Sldloflel

(B) ¥otcll WA stlelell el +
Aodlell 32l Rxdl + RBI

UL Jlaloflel

(C) ottt WA olliell %2l +HIdL
wA A QoM +RBI WAl
3 Rud

(D) ootcll Wsil olliell o2l

As @l 2l Qe o2
eafacll ug@ulHiel 58 usld s
HwA 8 ?

(A) Rglel 2usld

(B) ¥[l3at

(C) ouGcll

(D) st et

s 3x4, 4x2 WA 2x3 Fecll

sell tlacl Al AERSL vl

el Sl A,

(A) AB clall AC oialoll argill 531
sl O

(B) AB cal BC 6idell gl 531
s B

(C) CB call CA diatsll atawll 3l

sl &
(D) BA et AB oialell a1goll 531

sl 8
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25. Anti dumping duty is applicable to 25. Aol SUloL syl ey W3 B . ..
(A) Discourage sale of foreign goods at (A) Q2o arqeti AR, u>EFuc
prices below the domestic prices s2cll oLl Bud [;la A& 5> B
(B) Defense goods (B) dR&1l
(C) Narcotic goods (C) oURAEs clrefal (HIES clr)
(D) Giffen goods (D) ollgot el

26. Ina free market economy, self-interested | 26, Ws Ysct vim2 Wit UHIL AHLO% L
AU el A GRloel AUl W,

WelleltHi % 24 2iadl 54,
URAUR iR vt dlcdlell As carclpey

individuals operate through a system

of mutual interdependence to promote

the general benefit of society at large. 2L sl oA B
Adam Smith referred this as M @l L cold
(A) Collective spirit (A) u&oollcilof BitHMM

(B) A cuol

(C) wetal ucHoLn ol

(B) Direct benefit

(C) Private spirit
(D) v &lal

(D) Invisible hand 58 B

27. St /AR Ut o3, ol Aeuniel]
sal uselladl Quizell uaeiol]
VYA 101 B,

27. In call/notice money market, which of the

following participants is allowed to trade ?

(A) All banks and financial institutions (A) MM Aol Al Qllar eyl
(B) Ali corporates (B) cxun shaldey
(C) Only commercial bank (C) 85 Q> Aol

(D) Ali insurance companies (D) e un [y suoflay




28. Endogeneous growth modelis associated | 28. i gl A3
with the economist

A) &¥iet
(A) Hirschman A€

(B) W AHR
(C) [slcdtu 3eAdlR
(C) Nichclas Kaldor (D) %. V. Hla

(D) J. S. Mill A wedaull W@ Asnuda 8.

(B) Paul Romer

29, Theory of demographic transition was | 29. azc{lawrllaL sl Reuid,
proposed by (A) 3@s Astal
(A) David Ricardo (B) B, 12, Wlst

(B) H. R. Khan (C) 50.5 ellzR ol
(C) Frank Notestein (D) sNeks SLARAR
(D) Gottfried Haberler Gl2L AU CLHL el el

30. Pradhan Mantri Gram Sadak Yojana 30. uu‘l"m’n AUH US55 Ayl (PMGSY) ol

(PMGSY) was launched in (A) 2000 (B) 1999
(A) 2000 (B) 1999 (C) 2001 (D) 2004
(C) 2001 (D) 2004 HL A3ulel UB.
31. Under law of variable proportion 31, ACL YHIBlelL SLAEL 3600
(A} All factors are variable (A) €35 GelEd U2s U 8l
(B) One factor is variable (B) As ues UA &lA
(C) Some factors are inter changeable (©) ecus uedl widils udladld
(D) Al factors are inter changeable (D) ot uedl uicdls udlacld
da B,

—



32. Time Reversal Test for an index number 32. As YUS s Wej uxa Quaiy
is satisfied, when

W P xP. —0 udlawgl Ay U s ¥ wud
01X F=

(B) P, x P, =1 B Py xPio =0

(B) Py x P, =1
(C) Pgy x Pyg=ce (C) Py, x P,y = o0
(D) Py, x P, <1 (D) PyyxP, <1

33. IfA, B, Care three sets, then A— (BUC) | 33. %l A, B, C 2l o3l &l Al

is equal to A~(BuUC) AR

(A} (A-B)UA (A) (A-B)UA

(B) (A-B)uC (B) (A-B)uUC

(C) (A-B)nC (C) (A-B)nC

(D) A-B)nA-C (D) (A-B)nA-C aua 8,

34. Which of the following is not an example | 34. 3l sl A of ol Aouniell 52

of a capital rich nation ? GeleRal a2l ?
(A) Canada (B) Germany (A) 3alst (B) ool
(C) Bangladesh (D) ltaly (C) alidcuz 2t (D) Secll

35. Maximum social advantage is achieved | 35. HetiH AUHIYS GUH AR Ylid

when dlal B ¥ R

(A) Marginal social sacrifice = Marginal (A) Aict wuws @l = fluic
social benefit UHIDS A

(B) Total social sacrifice = Total social (B) 3C AHYS RN = 3 UHLYS
benefit clled

URAAUHHS UL = A9

e (C)
(C) Average sociai sacrifice = Average UHS AN

social benefit

: Lo , (D) AWl HHYS UL = Al
(D) g::' es;i)tcra! sacrifice = Net social AUEHS el AL B,

e




36.

37.

38.

39.

£

The operations of banks and financial
institutions are regulated by

(A) The Reserve Bank of India Act, 1934
(B) The Banking Regulation Act, 1949
(C) Information Technology Act, 2000
(D) The Companies Act, 2013

The life cycle income consumption
hypothesis was given by

(A) John Maynurd Keynes

(B) Fisher

{C) Mitton Friedman

(D) James Duessnberry

The most widely used measure of
economic development of a nation is

(A) Total of Exports and Imports
(B) Per Capita Income

(C) Gross National Product

(D) Average Literacy Level

According to which theory ‘children are
expected to fill the missing markets’ ?

(A) Theory of migration
(B) Ricardian theory of population
(C) Coase theorem

(D) Micro economic household theory of
fertility

36.

39.

37.

38.

S wA ctalisla Aot
sl U

(A) o fnd Aos s BldaUL Ase 1934
(B) u Aol 20Aet s 1949

(C) 8o81Ralel 25allclly lse 2000
(D) u $uells A2 2013

gl [@anet i B.

pclolus BlAs dAURA URSEUL :
(A) %8let Aol FSo

(B) far

(C) Rceat glsRat

(D) Bt 5YMeteidl

el w@s Q@siet Al (Qaun

HUol 3 Pl GuloL el
8 a

(A) 5c s val sABUA
(B) HLAEls s

(C) G Agla Ve

(D) ARRAIA AULBRA ER

].

g2l Realia Yoo, "elas wadl
AR B ¥ Azl oH UAcl Wl
adl tr?

(A) AR Rglct
(B) cacl 23l 51Tt Rsict
©€) A

(D) sOsuell A3ell YaM 25
§3 Rgicl

NI



40.

41.

42,

43.

According to 2011 census which state
has lower literacy rate than country’s

literacy rate ?

(A) Maharashtra (B) Gujarat

(C) Orissa (D) Karnataka

A situation in which a decision maker
knows all outcomes and probability
associated with it is

(A) Uncertainty
(B} Risk

(C) Centainty
(D) Strategy

Marginal efficiency of capital is the
highest rate of return from an additional

unit of a

(A} Fixed asset over its cost
{B) Floating asset over its cost
(C) Capital asset over its cost

(D) Variable asset over its cost

The production function Q = A.K= L5
implies constant returns to scale if

(A a=1,B=1 (B) a+B=1

C) a-p=1 D) a+p=2

40.

41.

42,

43.

2011 ofl Aoutrtell cacl
RAZIHL s AU 2l
ER, EAoll ABRAL €2 Sl

Wl ol
(A) HalR (B) 9%3Ud
(C) 2Rt (D) setlest

Al WRERARM 3 BrL Rl doitlld
AL Ul AR dedetzl

(A) VR A
(B) WA

€) PRl

(D) gl

N8 V.

YSlol i stadamd R

(A) W scdl A2 AUMSAM ol
WS (el AsH

(B) WA sl ycudl wusaAM Aol
As el AsH,

(C) Aell WA scl YISl WASAMcLoll
Us cltllygoll AsH

(D) delt W s2dl ARA
BUEAH AL A5 A-LRAAL gy

SRLYNA Ul el ey HOcRA €2 D

Geauteot ARy Q = AKeLP 32
HO AR [(2n e2d B, %

(A) a=1,B=1 B)oa+B=1

C) a-B=1 D)a+p=2
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44.

45.

46.

47.

One can not find out inverse of a matrix
whose value of determinant is

(A) O

(B) 1

(C) -1

(D) Not an integer

A tariff on imports benefits domestic
producers as

(A) They get the tariff revenue

(B) They can sell the productin domestic
market at higher price

(C) Itincreases competition

(D) lItincreases quality

Expenditure incurred by the government
on building durable assets like highways,
multipurpose dams, irrigation projects
are of the nature of

(A) Capital expenditure
(B) Revenue expenditure
(C) Investment expenditure
(D) Long term expenditure

Which instrument possess general
acceptability ?

(A) Bank draft

(B) Bill of Exchange

(C) Money

(D) None of the above

44,

45.

46.

47.

® AW sell Ranasel BHd

(A) O

(B) 1

(C) -1
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48.

49.

50.

51.

The concept of Vintage Capital being
incorporated into model of economic
growth is associated with

(A) Kaldor (B) Ricardo
(C) Schumpeter (D)} Harrod-Domar

Social cost-benefit analysis takes into
consideration

(A) Private cost and private benefits
(B) Direct costs and direct benefits

(C) Direct and indirect costs as well as
direct and indirect benefits

(D) Only social costs

Kutir Jyoti Scheme is related to

(A) Insurance of women

(B) Cottage industry

(C) Providing electricity to rural poor

(D) Providing employment to rural girls

If the decision maker is risk averse then
the best strategy to select is one that
yields the

(A) Highest expected pay off

(B) Lowest co-efficient of variation

(C) Highest expected utility

(D) Lowest standard deviation

48.

49.

50.

51.
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52.

53.

54.

55.

-

The absence of money illusion means that

(A) as the money supply doubles, the
demand for money doubles

{B) as the price level doubles, the
demand for money doubles

(C) as interest rate doubles, the demand
of money doubles

(D) as real income doubles, the demand
of money doubles

What is/are the limit/limits of statistics ?

(A) Study of quantitative information
only

(B) Study of groups and aggregates

(C) Analysis and interpretation in a
particular context only

(D) Ali of the above

For the following LP problem

Max z = 2x + 3y, the coordinates of the
corner points of the bounded feasible
region are A(3, 3), B(20, 3), C(20, 10),
D{18, 12) and E(12, 12). Then, the
maximum value of z is

(A) 72 (B) 80
(C) 82 (D) 70
Trade between two countries can be

useful if cost ratios of goods are
(A) undermined (B) decreasing

(C) equal (D) different

52.

53.

54.

55.
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56.

57.

58.

59,

Indirect taxes are objectionable because
they are

(A) hard to collect
(B) do not raise enough revenue
(C) particularly hard on rich

(D) regressive in nature

The Central Bank can significantly
influence the saving, investment and
consumer spending in the economy
through which of the following policy ?

(A) Fiscal policy

(B) Monetary policy

(C) Industrial policy

(D) Foreign exchange policy

According to Hirschman development is
(A} a process of equilibrium growth

(B) a chain of disequilibria

(C) an acceleration process

(D) a constant path of growth

Which of the following reduces planets
carrying capacity ?

(A) Increased resources

(B) Increased land erosiont *
(C) Reduced inequality

(D) Technological improvement

56. VUSSR AR, citluA B
5129 3 Al

(A) AsBd s2al a2 B

(B) uwallvc vuHElell Al
ASCl o
(C) totaliol 12 Yo¥cllau B

(D) AcAR( 23U ©AA B

57. o{lActtiell 565 oA g121, Jodlel Aok

Ud el wud, YSlAs@L wA
UESloll WL UR WU s A B 2

(A) sl A
(B) sl o{lld
(C) wWaGls A
(D} [@QEa «ual -1

s¥otell HA @Aste A
(A) UHdetoll gls ol yBau

58.
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60.

61.

62.

I

The most liquid measure of money supply is
(A) M,
(B) M,
(C) M,
(D) M,
The size of pay off matrix of a game

theory can be reduced by using the
principle of

(A) Game aversion
(B) Rotation reduction
(C) Dominance

(D) Game transpose

If the demand for money is perfectly interest

inelastic, the LM schedule will be
(A) Downward sloping

(B) Upward sloping

(C) Vertical line

(D) Horizontal line

60. oligllotl Yyrelsle] Al ay dra
w9,

(A) M,
(B) M,
(C) M,

D) M,

ot Rgicloll GualaL sl

A Radl o U g ARSsU
st waldl asia

61.
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63. Which of the following assumptions
are required to show consistency,
unbiasedness and efficiency of the
OLS estimator ?

i. E(u)=0
ii. Var(u) = ¢?
iii. Cov(u, uH.) =0 Vjand
iv. u, " N(0, ¢?)
(A) iiand iv only
(B) iandiii only
(C) i, ii and iii only

(D) i, ii, iii and iv

64. In a linear programming problem, an

objective function is always
{A) Cubic

(B) Quadratic

(C) Linear

(D) None of the above

65. A market in which currencies are
purchased and sold and their prices
are settled on is known as
(A) International bond market
(B) International capital market

(C) Foreign exchange market

(D) Euro currency market

63. oolctH ool LSl YA,
Woll@leotctel o stlamdl eallaca

HIR ollAotniell 56 aeuoll
%33R U3 B ?
I. E(u)=0

li. Var(u) = o2

iii. Cov(u, u,_)=0Vjua
iv. u, " N(0, o?)

(A) i wat iv

(B) i st iii

(C) i, i Wa ii

(D) i, i, iii W iv

64. s YRul v Yol YsH|,
dcetgll (@R énay

(A) Ruld
(B) Ruid
(C) Y

(D) GuReunigll S o1&l
aa ®

65. % closul ARl WIE)l WA
AU sl Frd Auldld

Y &, %
(A) UARRARA o5 w2

(B) vldRRAR Y| w2
(C) (@23l uctal won?

(D) YA UAR (currency) 6lostR
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66.

67.

68.

69.

Which of the following is not a direct tax ?
(A) Income tax
(B) Wealth tax

(C) Entertainment tax

{D) inheritance tax

How can the RBI decrease the money
supply in the economy ?

(A} Reduction in bank rate

(B) Purchase security from open market
(C) Lower the Repo rate

(D) Increase the CRR

When the substitution between factors of
production is zero, the resultant isoquant is

(A) Rectangular hyperbola

(B) Downward sloping straight line

(C) Leontief isoquant

(D) Infinite slope curve

An increase in smoking subsequent to
purchase of insurance policy is termed
as

(A) Risk aversion
(B) Information deficiency
(C) Market selection

(D) Moral hazard

g6. ol Aotimiell 52 e 52 «tell 2
(A) 2uds A
(B) du[ A
(C) eie yHle A
(D) cwral a1

RBI 8¢5 A wddauiell oliguetl
yasl AL sl ad B ?
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70.

71.

72.

Kelkar Committee Report is related to
(A) Tax reforms

(B) Financial sector reforms

(C) Trade reforms

(D) Administrative reforms

A saddle point exist when

(A) Maximin value = maxi max value

(B) Minimax value = max min value

(C) Minimax value = minimum value

(D) Minimum value = maximum value

The emphasis on wealth as a determinant
of the demand for money is pronounced

in the writing of

(A) Milton Friedman
(B) Metzler

(C) Keynes

(D) Fisher

70.

71.

72.
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73.

74,

75.

If the problem of heteroscadasticity is
present in a regression model, but is
ignored, what would be the consequences

for the OLS estimator ?

(A) It can not be calculated
(B) It will be inconsistent
(C) It will be inefficient

(D) (A), (B) and (C)

Who introduced input-output model ?
(A) Paul Sammuelson

(B) Leontief

(C) Ragnar Frisch

(D) Nurkse

The net barter terms of trade refers to

(A) The excess of import expenditure
over export expenditure

(B) Trade agreements

(C) Ratio between export prices and
import prices

(D) Ratio between capital goods and
consumer goods

73.

74.

75.

ol [Aun [Qure o0 ys WAs
[(Ratcioit J3An 1R 8l vl dal
WAAUHL 2, A oot ool
AUWRLS HIZ dof g UReuH W ?

(A) Aol ool 531 25l 18l
(B) A Aol 69
(€) A Rotsidam &

(D) (A), (B) 3ial (C) -

Attlot— Gedleat [QeAwel 519 2% 5 ?
(A) W Aot

(B) cllalls
(C) AW glat

(D) =tsd

Auiell Wl QM2 2kl

(A) dulRiell vl w2, [sia wal
5cll ay

(B) callulR $2A

(€) BAsin B wal wald B o
oJelTR

(D) 4SS crqd ual auriell cd
CER LI ES



76.

78.

Traditionally in India, federal financial
assistance to states is on the basis of

(A) The tax efforts of the states
(B) The revenue coliection of states

(C) Population, tax efforts and special
problems of the states

(D) The demand by the states for
financial assistance

“The transaction demand for money is not
only a function of income, but alsc of interest

rate”. This has been propounded by
(A) Baumol and Tobin
(B) Keynes and Baumol

(C) Tobin and Keynes

(D) Friedman and Duesenberry

‘Golden Age’ corresponds to a situation
where

(A) Natural, warranted and actual rate
of growth of national income are all
equal

(B) Natural rate of growth exceeds
warranted rate of growth

(C) Warranted rate of growth exceeds
natural rate of growth

(D) Actual rate of growth exceeds the
natural rate of growth of income and
employment

76.
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79. The Coase theorem asserts that

(A) Environmental problems arise from

state failure to eliminate market
imperfections

(B) If property rights are defined
clearly, markets will produce
efficient outcomes

(C) Transaction costs associated
with environmental problems are
negligible

(D) Market costs associated with
transactions are negligible

80. The share of tertiary sector
with economic development.

(A) Declines

(B) Increases

(C) Remains constant

(D) First rises and then falls

81. In a perfectly competitive market

(A) Firm is price taker and industry is

price taker

(B) Firm is price taker and industry is

price giver

(C) Both firm and industry are price
maker

(D) Price remains undetermined

79.

80.

81.
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82,

84.

8s.

The interaction between multiplier and
accelerator can lead to regular cycles in

demand. This was demonstrated by
(A) Hicks
(B) Kaldor

{C) Friedman

(D) Sammuelson

. A normal variable is always a

variable.

(A) Qualitative

(B) Discontinuous

(C) Continuous

(D) None of the above

In a geometrical series, what is the

relation between two consecutive
numbers X and Y ?

(A) Y=X+a (B) Y=aX
(C) Y=aX+b (D) Y=a¥+c
Bill of landing is issued by

(A) Shipping company
(B) Agent of importer
(C) Captain of ship

(D) Custom officer
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A

86. Food and fettilizer subsidies are included in 86. U125 A WLl uzell uoalldled

(A) Capital expenditure (A) 3431wl

(B) Central expenditure (B) Hoslat w2l
(C) 2losotl w2

(D) H@Yet Wi
(D) Revenue expenditure UM A B

(C) Plan expenditure

87. o{lAoti uiall 12Rfuct §soll 565

87. Which one of the following is not the
clagllsdt «ell ?

characteristics of Mutual Funds ?

: . (A) Js3u Aswat ylEw
(A) Consistent investment process

B .
(B) Strong funds management (B) il §s cuaanl

(C) Diversity in interest rates (©) el el Qe

(D) Differences from the benchmark (D) clo23uLh (bench mark) sl dAslclcl

88. The ‘critical growth rate’ of Prof. Meade | 88. Wl lset [Aglas g3 £2a ____

is one, where
(A) HSlotl sealell gl €2 WRAGR

(A) The growth rate of capital stock GeULE ool ‘1@‘ £2

equals the growth rate of output
(B) ¢lUctoll (& €3 OROR

(B) The growth rate of savings equais GeUlEatell Ci[%‘ £32

the growth rate of output _
(C) AU ¢l £ KRAMU GeUlEatell
(C) The growth rate of consumption Ci@\ £3

equals the growth rate of output
(D) axcll gl €2 wAUR Galleatal

D} The growth rate of population equals
(D) g pop q qRc2 ®

the growth rate of output




89.

90.

91.

Environmental resources are

(A) The gross production value of worlds

goods and services
(B) Resources provided by nature that

cannot be allocated unit by unit

{(C) The total amount of solar energy

converted to biochemical energy

(D) The maintenance and productivity of

natural and human assets

National income in India is estimated by
(A) Planning Commission

(B) Finance Commission

(C) Indian Statistical Institute

(D) Central Statistical Organization

Profit maximizing firm attains its
equilibrium when

(A) Total revenue = total cost
(B) Marginal revenue = marginal cost
{C) Demand = supply

(D) Total revenue = margihal cost

89.

90.

91.
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92.

93.

94.

K

Simultaneous increase in unemployment
and inflation is called

(A) Stagflation
(B) Hyperinflation
(C) Defiation

(D) Natural rate of unemployment

If in a regression model, one of the
explanatory variables is lagged value of
independent variable, then that model is
known as

(A) Best model
(B} Dynamic model
(C) Auto regressive model

(D) First difference model

What are the first and second order
conditions to be satisfied for the maximum
and minimum value of the function
y= f(X) ?

d’y
A =0, —= form
() i d > > 0 for max.,
2
gy o for min.
x2
dy d?y
By L for max.,
()dx 0(:12<0
2
S—Z>0formln
dzy
=0
© dx dx2

(D) None of the above
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94.

A5l wal goudl AU Al A
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(B) ya »sUl goul
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95. The full form of CIF is 95. CIF o 43 23U __
(A} Cost, Insurance and Freight (A) w3, il wal of2
(B) Commission, Interest and Facility (B) sullolol caulas WA ei[a.tu 9es
charges ’

(C) Huoll, sl AsLYY al R

(C) Company, Investment and Freight

(D) Cost, Investment and Funding (D) wa, ySRsL wa eidln

96. The principle of public expenditure 96. 32 el Ritid R A
that requires that it should be possible 33l B ¥, wzdlatcdl st AR
for public authorities to vary the 'g_;.u@ OlEC‘lCllGj, o132 AUdleloudll
expenditure according to need and w2 slsel 51%’ RASA, A

circumstances is
(A) uedcial viotell Rgict
(A) Canon of Economy

(B) Canon of Elasticity (B) RARAUUSAL 2ol Rigict

(C) Canon of Social benefit (C) UuBus cuetel Reid

(D) Canon of Expenditure (D) W3l il Rsict .

97. The FEDAI was established in 1958 as | 97. 1¢U¢HI FEDAI ofl UYL ...
in India.

(A) cHIM OloSloll ¥d6et....d3d

A) An association of all banks
® (B) €35 Mg Nl (Rweeu) ol

(B) An association of all authorized Aonsol A

dealers .
(C) Blsid Adset : oS3

C) An association of exporters .
© P (D) Bl YdUset : cdld

(D) An association of all importers QUM UL,
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98.

99.

100.

C o

The two-gap theory as applied to
development planning refers to

(A) Inflationary gap and investment
gap
(B) Savings gap and deflationary gap

(C) Savings constraint and investment
constraint

(D) Savings constraint and foreign
exchange constraint

Most scientists think that the major
contributors to the increase in global
atmospheric temperature in the last
century have been

(A} Factories and forests
(B) Factories and pets
(C) Factories and vehicies

(D) Vehicles and forests

Which Committee recommended tax of
agricultural holdings ?

(A) Bhootlingam Committee
(B} Wanchoo Committee
(C) Raj Committee

(D) Kelkar Committee
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